& 1304 BC//DE € w, x+y & Z+2?

® 6




< %9 BPAAP ABCD oA F A & Ak D4do] ¥ BC
o 1=

= A= B, ¥ DC o] A8 vt H= F 2 8, g <
a7
@ 1 @ 2 @3 @ 4 ® 5

~&B

AB//DF ©|22/BAE = (CFE (- 912})
(AEB = /(FEC (. ¥E&X]7})

.. AABEO AFCE (AA &)

BE: CE=AB: CF |2 &

6 :3 =6 :a

6a = 18

L a=3




3.

@ 8 @ 9 3®)10 @ 11 ® 12

AB:AC =BD:CD °o|E&
6:4=(05+x):x
6x = 4x+ 20, x =10




4.

th-2 2ol A ED 9] dol&=? (¢, sABCD = %

)

_ui- \D>,CO\

25
3

ODABCD = AAMZo|E2 AB=CD =5
FB//EC°|E2FP:PC=BP:PE=3:5
25

3:5=5:x .. xZE




th& 704 H D, B+ 217 AB, AC 9|
FHo|th. AADE = 20cm? ¥ ), AABC
o ol

@ 40cm?2 @ 60cm?
3®)80cm? @ 100cm?
® 120cm?

B

vs)

Q

AADE 9} AABC 9] @-3Hl&= AD: AB=1:
Holo] HjE=12:22 =1 :4 o]t}

AABC 9] YolE xcm? 2 5t
1:4=20:x

. x=80

2




o8 a9 o] gAYy ABCD oA /ABD = /CBD , /ADC = 70°

Ao, 1x & 2717

A D
T 705

®3° @0 @ @ e

® 70°

B

izt 7 AL O 2 sk}
L(ABC = /ADC = 70° (- BHAHF o] A4
(ABD = /BDC(. 92}
/CBD = /ADB( 47})

/ABD = /BDC = /CBD = /ADB = 7 = 35°

AADO ¢} ACDO o4
) OA oc ( S F 9 T A
iii) £ADO = 2.CDO
1),1i),ii1) ol €Jsl AADO = ACDO (SAS 3+%)
/x = /DCA
180° — 70°

=2 "0 gpe
. 2




& % AABC 9 aA'B/C ©] H7] o 27

© AB BC  CA
AL BO O
B B
@ = C > AC = ZC/
%(Bj/ B/C/
3
® =2, /B=/B, /C=/
5 e
B 1
@ = =—, LA =/A
A'B’ AC 2
® (A =/A,/B=/B

@ SAS B&ol HHW F -85k W] ZAolof uiet 1 7<)
Zto] 77} Zofok gt

@ SSS H+=

@ AA &

@ SAS @&

® AA S5




8.

thS T4 A 1= AABC o YAolth,
x 9] Zol& Fstoiet,

21 27 31
@ gcm @ gcm ® 7 om
© Zcm ® ZCHI

B

H17F HAolBE2 AD & (A 9] o] 5E o[},
~AB:AC=BD:CD

8:6=5:CD

_ __ 15
4CD:15,CD:I(cm)

S 15 35
BC=BD + CD =5+ — = —~(cm)




9. o I¥lM A G = sABC o FAFHCIH. DE//BC, DF // AC
. AB//EH € ©}, DE + DF + EH & vt24] 7¢ 317,

@ 24cm @25(:111 ® 26cm @ 27cm ® 28cm

B ~
AD:AB=DE:BC o|B2&

2:3=DE: 21, DE = 14 (cm)

BF:BC=DF:ACo|B&

1:3=DF: 18, DF = 6(cm)

CE:CA=FEH:ABo|EZ

1:3=EH: 15, EH=5(cm)
~DE+DF+EH=14+6+5=25(cm)




10.

2] A 4 0= BDY FHI
1, M EEBCO FHolth. AFBE =6 & o,
o}

C@)AABF =12 @DOFEC =12
® AFAO =3 @ AOCD =16

@)oABCD = 72

A

AABC 9|4 A F & FASA OB,
® AFBE = AFAO =6
@ AOCD =12+6=18




11.

YA ABCD oflA] £A, £C & o] 574
AB, CD g].nh,].l— .8 2 71—71—E F ﬂ-
o}, AB = 6cm, BC = 4cm, Z/ADC =
° Y wj, DAECF ¢] Ed]9] Zdo]=?

1

m&“ rPL°

a

@ 10cm @)}12cm ® 1l4cm

@ 16cm ® 18cm

~&B

AADF, ABEC oA AD = BC, DF = BE, /EBC = /ADF
o|B & SAS §-50]1 pAECF += H Aot}

(ADF = 60°, /BAD = 120°, /FAD = 60° |22, /AFD =
60° o]lB =2

AADF, ABEC &= A4z o|tt,

AE=AB-BE=6-4=2 (cm) o]t}

J= B2 YPAYP AECF 9 =d=
AE4+ECHCF+AF=2+4+2+4=12(cm) °Jth




12. BPAAF ABCD 9] % ¥ BC, DC ©] 4741 §1°] BC = CE,
DC =CF 7} H=5 &+ A E, F & &2 o, 0ABCDE A& A7}
Fol BRG] i 2702 ool B B A1

5 #yo] vjdie] 217} Basieh
5 #pe] el Pol7t 247t ek
dizte] 2717} 242 e

@ ® ©®© © O
n
oX
lo

14 @24 @34 @4  ©574

BAAPAGo] Hi 272 DABFC,DACED 7t BaAbd gl 5]
= 27 @7 oBFED7} BaAbdo] i 24 @2 27joltk.




13. & 133} Zo] LABC = 60° ¢ atER
ABCD 9] 5o eje] gt O 7} it #
O oA utE2 ABCD 9] Zt ' = 19| 9
A flo] e =40 8S ZHE P, Q, R, S

& o, =& F OP + 0Q + OR + OS ¢}
T AL
@ AC @BD ® 0A +0C
@ OB + 0D ® 2AB

B

OHEE ABCD 9] ?F 9] Zol& a 2t 5t
A8

DABCD = AOAB-l—AOBC—l—AOCD—i—AOAD
—><OP+—xOQ—|——><OR+—><OS

g(OP+OQ+OR+OS) ©

TE3HACE 1°2W AB =BC, /B =60 °]|22 aAABC = A4t
ZIgoltt. &, AC=qa°|BE
DABCD—%X_CXB_:ng_...Q_)
®,©°ﬂﬂig(@+_(;z+_R+_S)=gx@ OP +0Q +




14. thg 193 2L BAARY ABCDOA BAY BE A 44
o] AD ¢} Tt A2 E, DC 9] 43 et & Fakal g
AFEC = 60cm?2, AEDF = 40cm2 ¥ ©], AFEA 9] {o|2 ¢dure

A7
%F
D
B C
® 10cm? @)20 cm? ® 30cm?
@ 40cm? ® 50cm?

AADF = ABDF o] R 2
AFEA = ABED = AECD
= AFEC - AEDF
=60-40=20 (cm2)




AP ABCD Ol A ¥ Z+¢] o]
o,

o
b

b
F

T o]
2
=

. B
~w
NN
T ™~
H o
CUNEN
o o
o
NN
T T
- ouk

Tod

B

7ol

vl W

Aol

2

R

S
—

180° ©|E2 o0+ e = 90°
A3 2o

2(0 e o)

et

t4 9] ot yizte] 2717k 90° o] B2

A

Al




